

ATTACHMENT 3: ACTIVE BIDDER BID RESULTS REPORT



Landscape Benefit Zone Maintenance Services (Spec. #LMD 1-2024-25-01)

Estimated Value: \$1,990,499.7 **Bid Post Date:** 01/18/2024 15:01 PST

Department: Bid Due Date: 03/12/2024 before 13:00 PDT

Bid Bond: 10% Performace Bond: 100%

Payment Bond: 100%

License Requirements:

The Contractor shall possess and provide a copy of their Class C-27 license at the time of the contract is awarded and shall be required to maintain said license in good standing throughout the period of contract performance.

Project Information:

1) Landscape Benefit Zone Maintenance Services (Spec. #LMD 1-2024-25-01)

Type: PRIMARY

Location: City Wide **Project Start Date**: 07/01/2024

Perris, CA Project End Date: 06/30/2026

Scope of Services:

The CITY OF PERRIS will receive electronic bid proposals (bids) via the City Active Bidder website http://www.cityofperris.org/city-hall/bids.html at Perris City Hall, 101 North Street, Perris, CA 92570, until 1:00 P.M. (PST) March 12, 2024 for the Landscape Benefit Zone Maintenance Services (Specification No. #LMD 1-2024-25-01) Project. Bid Closing date and time shall be simultaneous with the Bid Opening. The Project includes furnishing all tools, equipment, services, apparatus, facilities, transportation, labor, encroachment permits, disposal, and materials necessary and reasonably incidental to perform the specified items of work, located throughout multiple Landscape Benefit Zones and General Fund Areas in Perris, CA, including but not limited to: maintenance of all irrigation systems in a fully operational manner; maintenance of all hardscape, landscape in an attractive and healthy condition; and all drainage facilities in an unobstructed and operational manner, in strict accordance with the Specifications and Information For Bidders, Specification No. # LMD 1-2024-25-01.

Notes:



Mandatory Pre-Bid Meeting on February 7, 2024, at 2:00PM located at Public Works, 1015 South "G" Street, Perris, CA 92570

The CITY OF PERRIS will receive electronic bid proposals (bids) via the Citys Active Bidder website http://www.cityofperris.org/city-hall/bids.html at Perris City Hall, 101 North Street, Perris, CA 92570, until 1:00 P.M. (PST) March 12, 2024 for the Landscape Benefit Zone Maintenance Services (Specification No. #LMD 1-2024-25-01) Project Bid Closing date and time shall be simultaneous with the Bid Opening. The Project includes furnishing all tools, equipment, services, apparatus, facilities, transportation, labor, encroachment permits, disposal, and materials necessary and reasonably incidental to perform the specified items of work, located throughout multiple Landscape Benefit Zones and General Fund Areas in Perris, CA, including but not limited to: maintenance of all irrigation systems in a fully operational manner; maintenance of all hardscape, landscape in an attractive and healthy condition; and all drainage facilities in an unobstructed and operational manner, in strict accordance with the Specifications and Information For Bidders, Specification No. # LMD 1-2024-25-01.

Contract Documents and additional information for bidders are available beginning at 1:00PM (PST) January 18, 2024, on the City Of Perris website at http://www.cityofperris.org/city-hall/bids.html. Contractors must be registered with ACTIVE BIDDER to bid on city projects.

The Contract Term is two fiscal years, and the successful bidder will have specified periods of time from the mandatory start date July 01, 2024 to fully complete all work. Award of Contract is expected on April 9, 2024. All Bidders will be required to hold their original bid prices, without change, for a period of forty-five (45) days from the date bids are opened, except to the extent relief is available pursuant to Public Contract Code, Section 5100 et. seq.

Furnish all tools, equipment, services, apparatus, facilities, transportation, labor, building/encroachment permits, disposal and materials necessary and reasonably incidental to perform the specified items of work, located throughout multiple Landscape Benefit Zones and General Fund Areas in Perris, CA, including but not limited to: maintenance of all irrigation systems in a fully operational manner; maintenance of all hardscape, landscape in an attractive and healthy condition; and all drainage facilities in an unobstructed and operational manner, in strict accordance with the Specifications and Information For Bidders, Specification No. # LMD 1-2024-25-01. The Engineerâs Estimate is \$602,864.96 for the North Maintenance Area, \$698,767.27 for the Central Maintenance Areas, and \$688,867.47 for the South Maintenance Area located in the City of Perris.



Registered Bidders / 6 total

#	Name	Company	Address	City	State	Phone
1	Leidenfrost, Tyler	Bill and Daves Landscape Maintenance Inc.	32750 Keller Rd	Winchester	CA	951-943-6455
2	Perez, Roy	RP Landscape & Irrigation, Inc	275 South G Street	San Bernardino	CA	909-889-9987
3	Rudd, Larry	Mariposa Landscapes, Inc.	6232 Santos Diaz St.	Irwindale	CA	6269600196
4	Moo, David	BrightView Landscape Services, Inc.	41430 Los Alamos Rd	Murrieta	CA	9514065904
5	Adame, Carlos	Adame Landscape Inc.	41863 Juniper street	Murrieta	CA	951-698-3090
6	Zbinden, Randy	Service-Scape	9716 COTTONWOOD WAY	Alta Loma	CA	951 545-1125



Results / 2 total

#	Name	Company	Address	Phone	Amount	Submitted	Status
1	Leidenfrost, Tyler	Bill and Daves Landscape Maintenance Inc.	32750 Keller Rd Winchester , CA 92596	951-943-6455	\$3,338,422.36	03/12/2024 14:06:17	Apparent Low Bidder
2	Perez, Roy	RP Landscape & Irrigation, Inc	275 South G Street San Bernardino, CA 92402	909-889-9987	\$3,571,412.03	03/12/2024 14:24:26	



Incomplete Submissions / 1 total

#	Name	Company	Address	Phone	Amount	Status
1	Adame, Carlos	Adame Landscape Inc.	41863 Juniper street Murrieta , CA 92562	951-698-3090	\$1,426,365.54	Incomplete



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	n.	UM	Qty	Unit Pricing	Item Total
BZ-	1A (Tract 20280)				
1	Maintain 10,088 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$43.98	\$527.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$20.18	\$1,049.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$20.18	\$1,049.36
4	Provide and Apply Fertilizer within 10,088 S.F. of Maintenance per Specifications.	EA	3	\$20.18	\$60.54
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$18.16	\$944.32
				Subtotal	\$3,631.34
BZ-	1B (Tract 17399)				
1	Maintain 5,757 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$20.15	\$241.8
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$10.36	\$538.72
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$10.94	\$568.88
4	Provide and Apply Fertilizer within 5,757 S.F. of Maintenance per Specifications.	EA	3	\$11.51	\$34.53
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$10.36	\$538.72
				Subtotal	\$1,922.65
3Z-	2 (Tract 19893)				
1	Maintain 6,700 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$29.21	\$350.52
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$13.4	\$696.8



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$13.4	\$696.8
4	Provide and Apply Fertilizer within 6,700 S.F. of Maintenance per Specifications.	EA	3	\$13.4	\$40.2
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$12.06	\$627.12
BZ-	3 (Tract 21131)			Subtotal	\$2,411.44
1	Maintain 2,607 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$13.04	\$156.48
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.52	\$183.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$4.95	\$257.4
4	Provide and Apply Fertilizer within 2,607 S.F. of Maintenance per Specifications.	EA	3	\$4.95	\$14.85
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$4.43	\$230.36
				Subtotal	\$842.13
GF	3Z-4 (Tract 20280)				
1	Maintain 12,500 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$62.5	\$750
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$23.75	\$1,235
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$18.75	\$975
4	Provide and Apply Fertilizer within 12,500 S.F. of Maintenance per Specifications.	e EA	3	\$23.75	\$71.25
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$22.38	\$1,163.76
				Subtotal	\$4,195.01



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
BZ-	5 (Tract 20538)				
1	Maintain 37,065 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$170.5	\$2,046
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$74.13	\$3,854.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$74.13	\$3,854.76
4	Provide and Apply Fertilizer within 13,065 S.F. of Maintenance per Specifications.	EA	3	\$26.13	\$78.39
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$66.72	\$3,469.44
				Subtotal	\$13,303.35
BZ-	3 (Tract 22719)				
1	Maintain 6,934 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$34.67	\$416.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$10.4	\$540.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$13.17	\$684.84
4	Provide and Apply Fertilizer within 3,794 S.F. of Maintenance per Specifications.	EA	3	\$7.59	\$22.77
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$12.48	\$648.96
				Subtotal	\$2,313.41
BZ-	9				
1	Maintain 29,300 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$134.78	\$1,617.36
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$58.6	\$3,047.2



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$58.6	\$3,047.2
4	Provide and Apply Fertilizer within 17,800 S.F. of Maintenance per Specifications.	EA	3	\$35.6	\$106.8
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$52.74	\$2,742.48
BZ-	11 (Tract 22988-1)			Subtotal	\$10,561.04
1	Maintain 23,200 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$106.72	\$1,280.64
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$46.4	\$2,412.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$46.4	\$2,412.8
4	Provide and Apply Fertilizer within 23,200 S.F. of Maintenance per Specifications.	EA	3	\$46.4	\$139.2
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$41.76	\$2,171.52
				Subtotal	\$8,416.96
BZ-	12 (Tract 22988)				
1	Maintain 5,454 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$25.09	\$301.08
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$10.91	\$567.32
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$10.91	\$567.32
4	Provide and Apply Fertilizer within 5,454 S.F. of Maintenance per Specifications.	EA	3	\$10.91	\$32.73
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$9.82	\$510.64
				Subtotal	\$1,979.09



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

1	UM	Qty	Unit Pricing	Item Total
13 (Tract 24081)				
Maintain 9,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$31.5	\$378
Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$16.2	\$842.4
Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$16.2	\$842.4
Provide and Apply Fertilizer within 6,800 S.F. of Maintenance per Specifications.	EA	3	\$12.24	\$36.72
Irrigation repairs per Specifications, Special Provisions Section 9-D	LS	52	\$15.75	\$819
			Subtotal	\$2,918.52
14 (Tract 23275/24541)				
Maintain 21,400 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$107	\$1,284
Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$36.38	\$1,891.76
Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$32.1	\$1,669.2
Provide and Apply Fertilizer within 21,400 S.F. of Maintenance per Specifications.	EA	3	\$42.8	\$128.4
Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$38.52	\$2,003.04
			Subtotal	\$6,976.4
15 (Tract 23825/1-4)				
Maintain 7,974 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$8.77	\$78.93
Maintain 7,974 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$8.77	\$306.95
Provide 7,974 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$19.94	\$19.94
	Maintain 9,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 6,800 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions Section 9-D 14 (Tract 23275/24541) Maintain 21,400 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 21,400 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions Section 9-D. 15 (Tract 23825/1-4) Maintain 7,974 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. Maintain 7,974 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	Maintain 9,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 6,800 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions Section 9-D 14 (Tract 23275/24541) Maintain 21,400 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 21,400 S.F. of Maintenance EA per Specifications. Irrigation repairs per Specifications, Special Provisions LS Section 9-D. 15 (Tract 23825/1-4) Maintain 7,974 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications. Maintain 7,974 S.F. of Turf Area from Mar.1 to Oct. 31 per LS Specifications.	Maintain 9,000 S.F. of Planter Area, on a monthly and as LS needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, LS 52 Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, LS 52 shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 6,800 S.F. of Maintenance EA 3 per Specifications. Irrigation repairs per Specifications, Special Provisions LS 52 Section 9-D 14 (Tract 23275/24541) Maintain 21,400 S.F. of Planter Area, on a monthly and as LS 12 needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, LS 52 Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, LS 52 shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 21,400 S.F. of Maintenance EA 3 per Specifications. Irrigation repairs per Specifications, Special Provisions LS 52 Section 9-D. 15 (Tract 23825/1-4) Maintain 7,974 S.F. of Turf Area from Nov. 1 to Feb. 28 per LS 9 Specifications. Maintain 7,974 S.F. of Turf Area from Mar.1 to Oct. 31 per LS 35 Specifications.	Maintain 9,000 S.F. of Planter Area, on a monthly and as LS 12 \$31.5 Irrigation Maintenance, Inspection, Testing, Monitoring, LS 52 \$16.2 Reporting, EMVD Water Budgeting, Water Reporting. Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 6,800 S.F. of Maintenance EA 3 \$12.24 per Specifications. Irrigation repairs per Specifications, Special Provisions LS 52 \$15.75 Section 9-D Maintain 21,400 S.F. of Planter Area, on a monthly and as LS 12 \$107 needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, LS 52 \$36.38 Reporting, EMVD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 21,400 S.F. of Maintenance EA 3 \$42.8 Provide and Apply Fertilizer within 21,400 S.F. of Maintenance EA 3 \$42.8 Irrigation repairs per Specifications, Special Provisions LS 52 \$38.52 Section 9-D. Subtotal 15 (Tract 23825/1-4) Maintain 7,974 S.F. of Turf Area from Nov. 1 to Feb. 28 per LS 9 \$8.77 Specifications. Maintain 7,974 S.F. of Turf Area from Mar.1 to Oct. 31 per LS 35 \$8.77



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
4	Maintain 14,626 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$67.28	\$807.36
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$45.2	\$2,350.4
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$45.2	\$2,350.4
7	Provide and Apply Fertilizer within 17,014 S.F. of Maintenance area per Specifications.	EA	3	\$34.03	\$102.09
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$40.68	\$2,115.36
				Subtotal	\$8,131.43
BZ-	16 (Tract 23838)				
1	Maintain 9,465 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$48.23	\$578.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$15.43	\$802.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.47	\$752.44
4	Provide and Apply Fertilizer within 9,465 S.F. of Maintenance per Specifications.	EA	3	\$19.29	\$57.87
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$17.36	\$902.72
				Subtotal	\$3,094.15
BZ-	17 (Tract 22910-1)				
1	Maintain 5,600 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	EA	12	\$30.8	\$369.6
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$8.4	\$436.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$8.4	\$436.8



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 5,600 S.F. of Maintenance per Specifications.	EA	3	\$11.2	\$33.6
5	Provide and Apply Fertilizer within 5,600 S.F. of Maintenance per Specifications.	EA	52	\$10.08	\$524.16
				Subtotal	\$1,800.96
BZ-	18 (Tract 20645-2/31683)				
1	Maintain 2,700 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$12.42	\$149.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$5.4	\$280.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$5.4	\$280.8
4	Provide and Apply Fertilizer within 2,700 S.F. of Maintenance per Specifications.	EA	3	\$5.4	\$16.2
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$4.86	\$252.72
				Subtotal	\$979.56
BZ-	19 (Tract 20173/20173-1-3)				
1	Maintain 8,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	EA	12	\$48	\$576
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$12	\$624
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$12	\$624
4	Provide and Apply Fertilizer within 8,000 S.F. of Maintenance per Specifications.	EA	3	\$16	\$48
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$14.4	\$748.8
				Subtotal	\$2,620.8
	20 (Tract 24715)				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
1	Maintain 5,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$32.45	\$389.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$8.85	\$460.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$8.85	\$460.2
4	Provide and Apply Fertilizer within 5,900 S.F. of Maintenance per Specifications.	EA	3	\$11.8	\$35.4
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$10.62	\$552.24
				Subtotal	\$1,897.44
BZ-	21 (Tract 20211)				
1	Maintain 18,478 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$86.24	\$1,034.88
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$37.5	\$1,950
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$37.5	\$1,950
4	Provide and Apply Fertilizer within 18,478 S.F. of Maintenance per Specifications.	EA	3	\$37.5	\$112.5
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$33.75	\$1,755
				Subtotal	\$6,802.38
BZ-	22 (Tract 24809/24809-1-2)				
1	Maintain 14,690 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	EA	12	\$66.11	\$793.32
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$22.04	\$1,146.08
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$22.04	\$1,146.08



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
4	Provide Drainage Maintenance 928 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	LS	5	\$50	\$250
5	Provide and Apply Fertilizer within 14,690 S.F. of Maintenance per Specifications.	EA	3	\$29.38	\$88.14
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$26.44	\$1,374.88
				Subtotal	\$4,798.5
BZ-	23 (Tract 26437)				
1	Maintain 22,200 S.F. of Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$101.2	\$1,214.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$44	\$2,288
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$44	\$2,288
4	Provide and Apply Fertilizer within 22,200 S.F. of Maintenance per Specifications.	EA	3	\$44	\$132
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$39.6	\$2,059.2
				Subtotal	\$7,981.6
BZ-	24 (Tract 24499/24499-1-3)				
1	Maintain 99,700 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$600	\$5,400
2	Maintain 99,700 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$600	\$21,000
3	Provide 99,700 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$2,000	\$2,000
4	Maintain 66,400 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$305.44	\$3,665.28
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$332.2	\$17,274.4



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM Qty		Unit Pricing	Item Total
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$332.2	\$17,274.4
7	Provide and Apply Fertilizer within 166,100 S.F. of Maintenance area per Specifications.	EA	3	\$332.2	\$996.6
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$298.98	\$15,546.96
				Subtotal	\$83,157.64
BZ-	27 (PM 27544)				
1	Maintain 15,478 S.F. of Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$71.2	\$854.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$30.96	\$1,609.92
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$30.96	\$1,609.92
4	Provide and Apply Fertilizer within 15,708 S.F. of Maintenance per Specifications.	EA	3	\$31.42	\$94.26
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$27.86	\$1,448.72
				Subtotal	\$5,617.22
GFI	3Z-28 (Tract 26618)				
1	Maintain 1,500 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$1.65	\$14.85
2	Maintain 1,500 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$1.65	\$57.75
3	Provide 1,500 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$3.75	\$3.75
4	Maintain 800 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$3.68	\$44.16
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.6	\$239.2
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$4.6	\$239.2



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
7	Provide and Apply Fertilizer within 2,300 S.F. of Maintenance area per Specifications.	EA	3	\$4.6	\$13.8
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$4.14	\$215.28
				Subtotal	\$827.99
BZ-3	35				
1	Maintain 4,425 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$4.87	\$43.83
2	Maintain 4,425 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$4.87	\$170.45
3	Provide 4,425 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$11.06	\$11.06
4	Maintain 51,171 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$235.39	\$2,824.68
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$111.19	\$5,781.88
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$111.19	\$5,781.88
7	Provide and Apply Fertilizer within 55,596 S.F. of Maintenance area per Specifications.	EA	3	\$111.19	\$333.57
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$100.07	\$5,203.64
				Subtotal	\$20,150.99
BZ-3	36				
1	Maintain 2,988 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$17.93	\$215.16
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$50	\$2,600
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$50	\$2,600



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Provide Drainage Maintenance 6,564 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	LS	5	\$1,600	\$8,000
5	Maintain 125,100 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$1,500	\$18,000
6	Provide and Apply Fertilizer within 2,988 S.F. of Maintenance per Specifications.	EA	3	\$5.98	\$17.94
7	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$192.13	\$9,990.76
				Subtotal	\$41,423.86
BZ-:	37 (Tract 24111)				
1	Maintain 10,630 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$30	\$360
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$20	\$1,040
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$20	\$1,040
4	Provide Drainage Maintenance 597 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	LS	5	\$75	\$375
5	Provide and Apply Fertilizer within 10,630 S.F. of Maintenance per Specifications.	EA	3	\$20	\$60
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$18	\$936
				Subtotal	\$3,811
3Z-:	39 (Tract 30382)				
1	Maintain 5,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$20	\$240



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$14.85	\$772.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.85	\$772.2
4	Maintain 4,900 S.F. of Landscaped Buffer Areas, Basins, Bioswales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$39.2	\$470.4
5	Provide and Apply Fertilizer within 5,000 S.F. of Maintenance per Specifications.	EA	3	\$10	\$30
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$17.82	\$926.64
				Subtotal	\$3,211.44
BZ-	40 (Tract 30144)				
1	Maintain 8,100 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$37.26	\$447.12
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$16.2	\$842.4
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$16.2	\$842.4
4	Provide and Apply Fertilizer within 6,900 S.F. of Maintenance per Specifications.	LS	3	\$12.2	\$36.6
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$14.58	\$758.16
				Subtotal	\$2,926.68
BZ-	42 (Tract 30380)				
1	Maintain 4,500 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$4.95	\$44.55
2	Maintain 4,500 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$4.95	\$173.25



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
3	Provide 4,500 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$11.25	\$11.25
4	Maintain 29,127 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$133.98	\$1,607.76
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$67.25	\$3,497
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$67.25	\$3,497
7	Provide and Apply Fertilizer within 33,627 S.F. of Maintenance area per Specifications.	EA	3	\$67.25	\$201.75
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$60.53	\$3,147.56
				Subtotal	\$12,180.12
BZ-4	19 (Tract 30751)				
1	Maintain 8,610 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$39.61	\$475.32
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$17.22	\$895.44
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$17.22	\$895.44
4	Provide and Apply Fertilizer within 8,610 S.F. of Maintenance per Specifications.	EA	3	\$17.22	\$51.66
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$15.5	\$806
				Subtotal	\$3,123.86
BZ-5	50 (Tract 30490)				
1	Maintain 1,520 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$1.67	\$15.03
2	Maintain 1,520 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$1.67	\$58.45
3	Provide 1,520 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$3.82	\$3.82



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
4	Maintain 57,120 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$856.8	\$10,281.6
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$117.28	\$6,098.56
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$117.28	\$6,098.56
7	Provide and Apply Fertilizer within 58,640 S.F. of Maintenance area per Specifications.	EA	3	\$117.28	\$351.84
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$105.55	\$5,488.6
				Subtotal	\$28,396.46
BZ-	51 (Tract 31114)				
1	Maintain 7,930 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$47.58	\$570.96
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$11.9	\$618.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.27	\$742.04
4	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	EA	3	\$14.27	\$42.81
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$13.48	\$700.96
				Subtotal	\$2,675.57
BZ-	52				
1	Maintain 169,999 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$782	\$9,384
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$387	\$20,124
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$387	\$20,124



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
4	Maintain 23,500 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$108.1	\$1,297.2
5	Provide and Apply Fertilizer within 169,999 S.F. of Maintenance per Specifications.	EA	3	\$340	\$1,020
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$348.3	\$18,111.6
				Subtotal	\$70,060.8
BZ-	53				
1	Maintain 352,047 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	EA	12	\$3,168.42	\$38,021.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$634.79	\$33,009.08
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$634.79	\$33,009.08
4	Provide Drainage Maintenance 7,313 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	LS	5	\$2,000	\$10,000
5	Maintain 510,911 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$3,831.83	\$45,981.96
6	Provide and Apply Fertilizer within 352,047 S.F. of Maintenance per Specifications.	EA	3	\$704.09	\$2,112.27
7	Provide and Apply Fertilizer within 352,047 S.F. of Maintenance per Specifications.	LS	52	\$634.79	\$33,009.08
				Subtotal	\$195,142.51
BZ-	54 (Tract 31678)				
1	Maintain 8,525 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$39.22	\$470.64



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

\$2,849.08 \$2,849.08 \$2,352
· ·
\$2,352
\$51.15
\$3,228.68
\$11,800.63
\$1,032.12
\$1,032.2
\$1,032.2
\$79.41
\$1,170
\$4,345.93
\$921.24



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

	1	UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$26.15	\$1,359.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$26.15	\$1,359.8
4	Maintain 5,625 S.F. of Landscaped Buffer Areas, Basins, Bioswales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$39.38	\$472.56
5	Provide and Apply Fertilizer within 11,810 S.F. of Maintenance per Specifications.	EA	3	\$23.62	\$70.86
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$29.64	\$1,541.28
				Subtotal	\$5,725.54
BZ.	57 (Tract 31178)				
1	Maintain 5,400 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$5.94	\$53.46
2	Maintain 5,400 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$5.94	\$207.9
3	Provide 5,400 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$13.5	\$13.5
4	Maintain 53,280 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$799.2	\$9,590.4
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$117.36	\$6,102.72
5	Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance	LS	52	\$117.36 \$117.36	\$6,102.72 \$6,102.72
	Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf,	LS			
6	Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 58,680 S.F. of Maintenance	LS	52	\$117.36	\$6,102.72



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

	n	UM	Qty	Unit Pricing	Item Total
BZ.	59 (Tract 29425)				
1	Maintain 65,515 S.F. of Planter Area and Median, on a monthly and as needed basis per Specifications.	LS	12	\$288.27	\$3,459.24
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$141.43	\$7,354.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$141.43	\$7,354.36
4	Provide and Apply Fertilizer within 65,515 S.F. of Maintenance area per Specifications.	EA	3	\$131.03	\$393.09
5	Maintain 5,200 S.F. of Planter Area within Bio-swale per Specifications.	LS	12	\$20.8	\$249.6
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$127.29	\$6,619.08
				Subtotal	\$25,429.73
ΒZ	60 (Tract 30773/31416)				
1	Maintain 23,110 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$46.22	\$415.98
2	Maintain 23,110 S.F. of Turf Area from Mar.1 to Oct. 31 per	LS	35	\$46.22	\$1,617.7
	Specifications.				
3	Provide 23,110 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$161.77	\$161.77
3	Provide 23,110 S.F of Over-seeding on an annual basis prior	LS	1 12	\$161.77 \$619.28	\$161.77 \$7,431.36
	Provide 23,110 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 79,395 S.F. of Planter Area, on a monthly and as				·
4	Provide 23,110 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 79,395 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance	LS	12	\$619.28	\$7,431.36
5	Provide 23,110 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 79,395 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf,	LS	12 52	\$619.28 \$153.76	\$7,431.36 \$7,995.52
5 6	Provide 23,110 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 79,395 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 102,505 S.F. of	LS LS	12 52 52	\$619.28 \$153.76 \$184.51	\$7,431.36 \$7,995.52 \$9,594.52



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

(T. (2000)	UM	Qty	Unit Pricing	Item Total
3 (Tract 32262)				
Maintain 3,671 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$7.34	\$66.06
Maintain 3,671 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$7.34	\$256.9
Provide 3,671 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$25.7	\$25.7
Maintain 28,010 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$218.48	\$2,621.76
Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$47.52	\$2,471.04
Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$57.03	\$2,965.56
Provide and Apply Fertilizer within 31,681 S.F. of Maintenance area per Specifications.	EA	3	\$57.03	\$171.09
Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$53.86	\$2,800.72
			Subtotal	\$11,378.83
5 and BZ-89				
Maintain 5,213 S.F. of Concrete Median and Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$68.11	\$817.32
Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$10.43	\$542.36
Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications.	EA	3	\$1.9	\$5.7
Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$9.38	\$487.76
			Subtotal	\$1,853.14
6 (Tract 32793/33720)				
Maintain 9,240 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$41.45	\$497.4
	Maintain 3,671 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 3,671 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 28,010 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 31,681 S.F. of Maintenance area per Specifications. Irrigation repairs per Specifications, Special Provisions Section 9-D. 5 and BZ-89 Maintain 5,213 S.F. of Concrete Median and Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Irrigation repairs per Specifications, Special Provisions Section 9-D.	Maintain 3,671 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 3,671 S.F. of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 28,010 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 31,681 S.F. of Maintenance area per Specifications. Irrigation repairs per Specifications, Special Provisions Section 9-D. 5 and BZ-89 Maintain 5,213 S.F. of Concrete Median and Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Irrigation repairs per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. LS Section 9-D. 6 (Tract 32793/33720) Maintain 9,240 S.F. of Planter Area, on a monthly and as LS	Maintain 3,671 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 3,671 S.F. of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 28,010 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, LS sporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 31,681 S.F. of Maintenance EA area per Specifications. Irrigation repairs per Specifications, Special Provisions LS 52 Section 9-D. 5 and BZ-89 Maintain 5,213 S.F. of Concrete Median and Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, LS 52 Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance EA 3 area per Specifications. Irrigation repairs per Specifications, Special Provisions LS 52 Section 9-D. 6 (Tract 32793/33720) Maintain 9,240 S.F. of Planter Area, on a monthly and as LS 12	Maintain 3,671 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications. Provide 3,671 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications Maintain 28,010 S.F. of Planter Area, on a monthly and as needed basis per Specifications. Irrigation Maintenance, Inspection, Testing, Monitoring, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Provide and Apply Fertilizer within 31,681 S.F. of Maintenance area per Specifications, Special Provisions Section 9-D. Maintain 5,213 S.F. of Concrete Median and Planter Area, on a monthly and as needed basis per Specifications. Provide and Apply Fertilizer within 550 S.F. of Maintenance a monthly and as needed basis per Specifications. Provide and Apply Fertilizer within 550 S.F. of Maintenance and Planter Area, on a monthly and as needed basis per Specifications. Provide and Apply Fertilizer within 550 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications. Provide and Apply Fertilizer within 950 S.F. of Maintenance area per Specifications.



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$18.84	\$979.68
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$18.84	\$979.68
4	Provide and Apply Fertilizer within 9,240 S.F. of Maintenance per Specifications.	EA	3	\$18.84	\$56.52
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$16.96	\$881.92
				Subtotal	\$3,395.2
BZ-6	67 (PM 31832)				
1	Maintain 8,050 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$35.42	\$425.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$16.1	\$837.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$16.1	\$837.2
4	Provide and Apply Fertilizer within 8,050 S.F. of Maintenance per Specifications.	EA	3	\$16.1	\$48.3
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$14.49	\$753.48
				Subtotal	\$2,901.22
BZ-6	59				
1	Maintain 7,026 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$45.67	\$548.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$14.14	\$735.28
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.14	\$735.28



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
4	Maintain 2,400 S.F. of Landscaped Buffer Areas, Basins, Bioswales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$16.8	\$201.6
5	Provide and Apply Fertilizer within 7,026 S.F. of Maintenance per Specifications.	EA	3	\$14.05	\$42.15
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$16.02	\$833.04
				Subtotal	\$3,095.39
BZ-	70 (Tract 32707/32708)				
1	Maintain 108,548 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$1,628.22	\$19,538.64
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$217.1	\$11,289.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$217.1	\$11,289.2
4	Provide and Apply Fertilizer within 108,548 S.F. of Maintenance per Specifications.	EA	3	\$217.1	\$651.3
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$195.39	\$10,160.28
				Subtotal	\$52,928.62
BZ-	71 (Tract 32780)				
1	Maintain 51,760 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$227.74	\$2,732.88
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$103.52	\$5,383.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$103.52	\$5,383.04
4	Provide and Apply Fertilizer within 51,760 S.F. of Maintenance per Specifications.	EA	3	\$103.52	\$310.56



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

	n	UM	Qty	Unit Pricing	Item Total
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$93.17	\$4,844.84
				Subtotal	\$18,654.36
BZ-	72 (Tract 32249)				
1	Maintain 65,995 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$290.38	\$3,484.56
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$131.99	\$6,863.48
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$131.99	\$6,863.48
1	Provide and Apply Fertilizer within 65,995 S.F. of Maintenance per Specifications.	EA	3	\$131.99	\$395.97
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$118.79	\$6,177.08
				Subtotal	\$23,784.57
BZ-	73 (Tract 31660)				
1	Maintain 21,978 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$96.7	\$1,160.4
	needed basis per Specifications.				
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$43.96	\$2,285.92
	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance	LS	52	\$43.96 \$43.96	\$2,285.92 \$2,285.92
3	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf,	LS			
3	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 21,978 S.F. of Maintenance	LS	52	\$43.96	\$2,285.92
3	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 21,978 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions	LS	52	\$43.96 \$43.96	\$2,285.92 \$131.88
3 4 5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications. Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications. Provide and Apply Fertilizer within 21,978 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions	LS	52	\$43.96 \$43.96 \$39.56	\$2,285.92 \$131.88 \$2,057.12



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$50.53	\$2,627.56
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$50.53	\$2,627.56
4	Provide and Apply Fertilizer within 25,265 S.F. of Maintenance per Specifications.	EA	3	\$50.53	\$151.59
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$45.48	\$2,364.96
				Subtotal	\$9,105.71
BZ-	75				
1	Maintain 181,452 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$1,088.71	\$13,064.52
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$313.22	\$16,287.44
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$261.02	\$13,573.04
4	Provide Drainage Maintenance 603 L.F. (Where Applicable) at permanent drainage structures, including concrete swales, gutters, inlets/outlets at pipe, forebays, grates, v-ditches, cross-gutters, etc. per Specifications.	LS	5	\$1,000	\$5,000
5	Maintain 79,565 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$477.39	\$5,728.68
6	Provide and Apply Fertilizer within 181,452 S.F. of Maintenance per Specifications.	EA	3	\$362.9	\$1,088.7
7	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$443.73	\$23,073.96
				Subtotal	\$77,816.34
BZ-	76				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
1	Maintain 1,604 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$7.06	\$84.72
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.21	\$166.92
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.21	\$166.92
4	Provide and Apply Fertilizer within 1,604 S.F. of Maintenance per Specifications.	EA	3	\$3.21	\$9.63
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$2.89	\$150.28
				Subtotal	\$578.47
BZ-	30 (Tract 33266)				
1	Maintain 17,349 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$86.75	\$1,041
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$29.49	\$1,533.48
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$26.02	\$1,353.04
4	Provide and Apply Fertilizer within 17,349 S.F. of Maintenance per Specifications.	EA	3	\$34.7	\$104.1
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$31.23	\$1,623.96
				Subtotal	\$5,655.58
BZ-	31 (PM 34082)				
1	Maintain 7,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$39.5	\$474
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$13.43	\$698.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$11.85	\$616.2



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 7,900 S.F. of Maintenance per Specifications.	EA	3	\$15.8	\$47.4
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$14.22	\$739.44
				Subtotal	\$2,575.4
BZ-	35				
1	Maintain 7,940 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$32.96	\$395.52
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$14.98	\$778.96
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.98	\$778.96
4	Provide and Apply Fertilizer within 7,940 S.F. of Maintenance per Specifications.	EA	3	\$14.98	\$44.94
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$13.48	\$700.96
				Subtotal	\$2,699.34
BZ-	36				
1	Maintain 63,273 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$316.37	\$3,796.44
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$107.56	\$5,593.12
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$94.91	\$4,935.32
4	Provide and Apply Fertilizer within 58,116 S.F. of Maintenance per Specifications.	EA	3	\$126.55	\$379.65
	Irrigation repairs per Specifications, Special Provisions	LS	52	\$113.89	\$5,922.28
5	Section 9-D.				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
1	Maintain 9,970 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$43.87	\$526.44
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$19.94	\$1,036.88
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$19.94	\$1,036.88
4	Provide and Apply Fertilizer within 9,970 S.F. of Maintenance per Specifications.	EA	3	\$19.94	\$59.82
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$17.95	\$933.4
				Subtotal	\$3,593.42
BZ-	90				
1	Maintain 12,770 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$56.19	\$674.28
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$25.54	\$1,328.08
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$25.54	\$1,328.08
4	Provide and Apply Fertilizer within 6,000 S.F. of Maintenance per Specifications.	EA	3	\$19.94	\$59.82
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$22.99	\$1,195.48
				Subtotal	\$4,585.74
BZ-	91				
1	Maintain 14,327 S.F. of Median and Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$71.64	\$859.68
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$24.36	\$1,266.72
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$21.49	\$1,117.48



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 5,490 S.F. of Maintenance per Specifications.	EA	3	\$10.98	\$32.94
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$25.79	\$1,341.08
				Subtotal	\$4,617.9
BZ-	92				
1	Maintain 2,441 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$12.06	\$144.72
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.1	\$213.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.62	\$188.24
4	Provide and Apply Fertilizer within 2,441 S.F. of Maintenance per Specifications.	EA	3	\$4.82	\$14.46
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$4.34	\$225.68
				Subtotal	\$786.3
BZ-	93				
1	Maintain 967 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$4.84	\$58.08
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$1.64	\$85.28
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$1.45	\$75.4
4	Provide and Apply Fertilizer within 967 S.F. of Maintenance per Specifications.	EA	3	\$1.93	\$5.79
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$1.74	\$90.48
				Subtotal	\$315.03
BZ-	94				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
1	Maintain 75,274 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$1,354.93	\$16,259.16
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$150.55	\$7,828.6
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$150.55	\$7,828.6
4	Provide and Apply Fertilizer within 63,628 S.F. of Maintenance per Specifications.	EA	3	\$127.26	\$381.78
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$135.49	\$7,045.48
				Subtotal	\$39,343.62
BZ-	95				
1	Maintain 2,932 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$14.66	\$175.92
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.98	\$258.96
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$4.4	\$228.8
4	Provide and Apply Fertilizer within 1,338 S.F. of Maintenance per Specifications.	EA	3	\$2.68	\$8.04
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$5.28	\$274.56
				Subtotal	\$946.28
BZ-	96				
1	Maintain 36,012 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$158.45	\$1,901.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$72.02	\$3,745.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$72.02	\$3,745.04



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 36,012 S.F. of Maintenance per Specifications.	EA	3	\$72.02	\$216.06
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$64.82	\$3,370.64
				Subtotal	\$12,978.18
BZ-9	7 (PM 34131)				
1	Maintain 58,5332 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$257.55	\$3,090.6
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$117.07	\$6,087.64
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$117.07	\$6,087.64
4	Provide and Apply Fertilizer within 48,274 S.F. of Maintenance per Specifications.	EA	3	\$96.55	\$289.65
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$105.36	\$5,478.72
				Subtotal	\$21,034.25
BZ-9	98				
1	Maintain 15,013 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$75.07	\$900.84
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$25.52	\$1,327.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$22.52	\$1,171.04
4	Provide and Apply Fertilizer within 13,117 S.F. of Maintenance per Specifications.	EA	3	\$30.03	\$90.09
_	Irrigation repairs per Specifications, Special Provisions	LS	52	\$27.02	\$1,405.04
5	Section 9-D.				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
1	Maintain 6,280 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$27.63	\$331.56
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$12.56	\$653.12
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$12.56	\$653.12
4	Provide and Apply Fertilizer within 6,280 S.F. of Maintenance per Specifications.	EA	3	\$12.56	\$37.68
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$11.3	\$587.6
				Subtotal	\$2,263.08
BZ-	100				
1	Maintain 2,120 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$10.6	\$127.2
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.6	\$187.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.18	\$165.36
4	Provide and Apply Fertilizer within 2,120 S.F. of Maintenance per Specifications.	EA	3	\$4.24	\$12.72
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$3.82	\$198.64
				Subtotal	\$691.12
BZ-	101				
1	Maintain 112 S.F. of Trees/Planter Area, on a monthly and as- needed Specifications.	LS	12	\$0.56	\$6.72
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$0.19	\$9.88
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$0.17	\$8.84



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	1	UM Qty		Unit Pricing	Item Total
4	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$0.2	\$10.4
				Subtotal	\$35.84
BZ-	102				
1	Maintain 1,737 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$8.69	\$104.28
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$2.95	\$153.4
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$2.61	\$135.72
4	Provide and Apply Fertilizer within 1,737 S.F. of Maintenance per Specifications.	EA	3	\$3.47	\$10.41
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$3.13	\$162.76
				Subtotal	\$566.57
BZ-	104				
1	Maintain 15,875 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$31.75	\$285.75
2	Maintain 15,875 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$31.75	\$1,111.25
3	Provide 15,875 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$130	\$130
4	Maintain 191,195 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$1,300.13	\$15,601.56
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$372.73	\$19,381.96
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$310.61	\$16,151.72
7	Provide and Apply Fertilizer within 207,070 S.F. of Maintenance area per Specifications.	EA	3	\$828.28	\$2,484.84
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$372.73	\$19,381.96



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	1	UM	Qty	Unit Pricing	Item Total
				Subtotal	\$74,529.04
BZ-	105				
1	Maintain 24,200 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$121	\$1,452
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$41.14	\$2,139.28
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$36.3	\$1,887.6
4	Provide and Apply Fertilizer within 24,200 S.F. of Maintenance per Specifications.	EA	3	\$48.4	\$145.2
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$43.56	\$2,265.12
				Subtotal	\$7,889.2
BZ-	106				
1	Maintain 2,644 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$13.22	\$158.64
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.49	\$233.48
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.97	\$206.44
4	Provide and Apply Fertilizer within 2,527 S.F. of Maintenance per Specifications.	EA	3	\$5.05	\$15.15
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$4.76	\$247.52
				Subtotal	\$861.23
BZ-	107				
1	Maintain 53,391 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$234.92	\$2,819.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$106.78	\$5,552.56



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$106.78	\$5,552.56
4	Provide and Apply Fertilizer within 53,391 S.F. of Maintenance per Specifications.	EA	3	\$106.78	\$320.34
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$96.1	\$4,997.2
BZ-	108			Subtotal	\$19,241.7
1	Maintain 28,647 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$126.05	\$1,512.6
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$57.29	\$2,979.08
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$57.29	\$2,979.08
4	Provide and Apply Fertilizer within 28,647 S.F. of Maintenance per Specifications.	EA	3	\$57.29	\$171.87
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$51.56	\$2,681.12
D 7				Subtotal	\$10,323.75
BZ- 1	Maintain 3,465 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$17.33	\$207.96
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$5.89	\$306.28
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$5.2	\$270.4
4	Provide and Apply Fertilizer within 3,465 S.F. of Maintenance per Specifications.	EA	3	\$6.93	\$20.79
5	Irrigation repairs per Specifications, Special Provisions	LS	52	\$6.24	\$324.48
)	Section 9-D.				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	n	UM	Qty	Unit Pricing	Item Total
BZ-	113				
1	Maintain 20,719 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$91.16	\$1,093.92
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$41.44	\$2,154.88
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$41.44	\$2,154.88
4	Provide and Apply Fertilizer within 20,719 S.F. of Maintenance per Specifications.	EA	3	\$41.44	\$124.32
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$37.29	\$1,939.08
				Subtotal	\$7,467.08
GFE	3Z-114				
1	Maintain 3,940 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$17.34	\$208.08
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.88	\$409.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$7.88	\$409.76
4	Provide and Apply Fertilizer within 2,500 S.F. of Maintenance per Specifications.	EA	3	\$5	\$15
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$7.09	\$368.68
				Subtotal	\$1,411.28
BZ-	115				
1	Maintain 4,630 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$20.37	\$244.44
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$9.26	\$481.52



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$9.26	\$481.52
4	Provide and Apply Fertilizer within 4,630 S.F. of Maintenance per Specifications.	EA	3	\$9.26	\$27.78
5	Irrigation repairs per Specifications, Special Provisions Section 9-D	LS	52	\$8.33	\$433.16
BZ-	116			Subtotal	\$1,668.42
1	Maintain 3,717 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$16.35	\$196.2
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.43	\$386.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$7.43	\$386.36
4	Provide and Apply Fertilizer within 3,717 S.F. of Maintenance per Specifications.	EA	3	\$7.43	\$22.29
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$6.69	\$347.88
				Subtotal	\$1,339.09
BZ-	118				
1	Maintain 746 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$3.73	\$44.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$1.27	\$66.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$1.12	\$58.24
4	Provide and Apply Fertilizer within 746 S.F. of Maintenance per Specifications.	EA	3	\$1.49	\$4.47
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$1.34	\$69.68
				Subtotal	\$243.19



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
BZ-	120				
1	Maintain 3,610 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$18.05	\$216.6
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$6.14	\$319.28
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$5.42	\$281.84
4	Provide and Apply Fertilizer within 3,610 S.F. of Maintenance per Specifications.	EA	3	\$7.22	\$21.66
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$6.5	\$338
				Subtotal	\$1,177.38
BZ-	121				
1	Maintain 19,197 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$95.99	\$1,151.88
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$32.63	\$1,696.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$28.8	\$1,497.6
4	Provide and Apply Fertilizer within 19,197 S.F. of Maintenance per Specifications.	EA	3	\$38.39	\$115.17
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$34.55	\$1,796.6
				Subtotal	\$6,258.01
BZ-	122				
1	Maintain 17,436 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$87.18	\$1,046.16
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$29.64	\$1,541.28



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$26.15	\$1,359.8
4	Provide and Apply Fertilizer within 17,436 S.F. of Maintenance per Specifications.	EA	3	\$34.87	\$104.61
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$31.38	\$1,631.76
BZ-	123			Subtotal	\$5,683.61
1	Maintain 1,843 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$9.22	\$110.64
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.13	\$162.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$2.76	\$143.52
4	Provide and Apply Fertilizer within 1,843 S.F. of Maintenance per Specifications.	EA	3	\$3.69	\$11.07
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$3.32	\$172.64
				Subtotal	\$600.63
BZ-	124				
1	Maintain 2,861 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$14.31	\$171.72
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.86	\$252.72
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$4.29	\$223.08
4	Provide and Apply Fertilizer within 2,861 S.F. of Maintenance per Specifications.	EA	3	\$5.72	\$17.16
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$5.15	\$267.8
				Subtotal	\$932.48



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
BZ-	125				
1	Maintain 20,229 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$101.15	\$1,213.8
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$39.66	\$2,062.32
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$35	\$1,820
4	Pick up trash and debris and weed abate 3,101 S.F. hardscape, turf, shrub, planter areas; and pick up trash and debris only from slopes, buffer areas, channels, v-ditches, ect., (see weed abatement intervals for channels, buffer areas ect.) per specifications.	LS	52	\$15.51	\$806.52
5	Provide and Apply Fertilizer within 20,229 S.F. of Maintenance per Specifications.	EA	3	\$40.46	\$121.38
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$41.99	\$2,183.48
				Subtotal	\$8,207.5
BZ-	126				
1	Maintain 15,645 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$78.23	\$938.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$26.6	\$1,383.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$23.47	\$1,220.44
4	Provide and Apply Fertilizer within 15,645 S.F. of Maintenance per Specifications.	EA	3	\$31.29	\$93.87
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	EA	52	\$28.16	\$1,464.32
				Subtotal	\$5,100.59
BZ-	127				
1	Maintain 289,984 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$1,594.91	\$19,138.92



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

		UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$566.67	\$29,466.84
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$453.34	\$23,573.68
4	Weed abatement of walking trail 87,798 S.F.	LS	52	\$570.69	\$29,675.88
5	Provide and Apply Fertilizer within 289,984 S.F. of Maintenance per Specifications.	EA	3	\$579.97	\$1,739.91
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$566.67	\$29,466.84
				Subtotal	\$133,062.07
BZ-1	29				
1	Maintain 10,814 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$11.9	\$107.1
2	Maintain 10,814 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$11.9	\$416.5
3	Provide 10,814 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$27.04	\$27.04
4	Maintain 5,406S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$27.03	\$324.36
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$27.57	\$1,433.64
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$24.33	\$1,265.16
7	Provide and Apply Fertilizer within 16,220 S.F. of Maintenance area per Specifications.	EA	3	\$32.44	\$97.32
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$29.2	\$1,518.4
				Subtotal	\$5,189.52
BZ-1	30				
1	Maintain 42,202 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$21.01	\$252.12



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.14	\$371.28
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.3	\$327.6
4	Provide and Apply Fertilizer within 42,202 S.F. of Maintenance per Specifications.	EA	3	\$8.4	\$25.2
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$7.56	\$393.12
				Subtotal	\$1,369.32
BZ-	131				
1	Maintain 15,862 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$79.31	\$951.72
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$26.97	\$1,402.44
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$23.79	\$1,237.08
4	Provide and Apply Fertilizer within 15,862 S.F. of Maintenance per Specifications.	EA	3	\$31.72	\$95.16
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$28.55	\$1,484.6
				Subtotal	\$5,171
BZ-	132				
1	Maintain 2,574 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$12.87	\$154.44
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.38	\$227.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.86	\$200.72
4	Provide and Apply Fertilizer within 2,574 S.F. of Maintenance per Specifications.	EA	3	\$5.15	\$15.45



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

ten		UM	Qty	Unit Pricing	Item Total
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$4.63	\$240.76
				Subtotal	\$839.13
3Z-	134				
	Maintain 20,578 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$102.89	\$1,234.68
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$34.98	\$1,818.96
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$30.87	\$1,605.24
ļ	Provide and Apply Fertilizer within 20,578 S.F. of Maintenance per Specifications.	EA	3	\$41.16	\$123.48
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$37.04	\$1,926.08
				Subtotal	\$6,708.44
3Z-	135				
	Maintain 8,789 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$43.95	\$527.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$14.94	\$776.88
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$13.18	\$685.36
ı	Provide and Apply Fertilizer within 8,789 S.F. of Maintenance per Specifications.	EA	3	\$17.58	\$52.74
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$15.82	\$822.64
				Subtotal	\$2,865.02
3Z-	136				
	Maintain 5,351 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$26.76	\$321.12



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$9.1	\$473.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$8.03	\$417.56
4	Provide and Apply Fertilizer within 5,351 S.F. of Maintenance per Specifications.	EA	3	\$10.7	\$32.1
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$9.63	\$500.76
				Subtotal	\$1,744.74
BZ-	137				
1	Maintain 15,158 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$75.79	\$909.48
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$25.77	\$1,340.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$22.74	\$1,182.48
4	Provide and Apply Fertilizer within 15,158 S.F. of Maintenance per Specifications.	EA	3	\$30.32	\$90.96
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$27.28	\$1,418.56
				Subtotal	\$4,941.52
BZ-	138				
1	Maintain 11,190 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$55.95	\$671.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$19.02	\$989.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$16.79	\$873.08
4	Provide and Apply Fertilizer within 11,190 S.F. of Maintenance per Specifications.	EA	3	\$22.38	\$67.14



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lter	n	UM	Qty	Unit Pricing	Item Total
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$20.14	\$1,047.28
				Subtotal	\$3,647.94
ΒZ	139				
1	Maintain 7,490 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$37.45	\$449.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$12.73	\$661.96
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$11.24	\$584.48
4	Provide and Apply Fertilizer within 7,490 S.F. of Maintenance per Specifications.	EA	3	\$14.98	\$44.94
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$13.48	\$700.96
				Subtotal	\$2,441.74
ΒZ	141				
1	Maintain 4,446 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$22.23	\$266.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.56	\$393.12
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.67	\$346.84
4	Provide and Apply Fertilizer within 4,446 S.F. of Maintenance per Specifications.	EA	3	\$8.89	\$26.67
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$8	\$416
				Subtotal	\$1,449.39
ΒZ	142				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lter	n	UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$8.45	\$439.4
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$7.46	\$387.92
4	Provide and Apply Fertilizer within 4,971 S.F. of Maintenance per Specifications.	EA	3	\$9.94	\$29.82
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$8.95	\$465.4
				Subtotal	\$1,620.86
ΒZ	143				
1	Weed abate and pick up trash in 6,300 S.F. of hardscaped area, on weekly basis, per Specifications.	LS	26	\$81.9	\$2,129.4
				Subtotal	\$2,129.4
ΒZ	144				
1	Maintain 857 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$4.29	\$51.48
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$1.46	\$75.92
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$1.29	\$67.08
4	Provide and Apply Fertilizer within 857 S.F. of Maintenance per Specifications.	EA	3	\$1.71	\$5.13
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$1.54	\$80.08
				Subtotal	\$279.69
ΒZ	145				
1	Maintain 19,442 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$97.21	\$1,166.52
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$33.05	\$1,718.6



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	n	UM	Qty	Unit Pricing	Item Total
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$29.16	\$1,516.32
4	Provide and Apply Fertilizer within 19,442 S.F. of Maintenance per Specifications.	EA	3	\$38.88	\$116.64
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$35	\$1,820
3Z-	146			Subtotal	\$6,338.08
1	Maintain 15,158 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$75.79	\$909.48
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$25.77	\$1,340.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$22.74	\$1,182.48
4	Provide and Apply Fertilizer within 15,158 S.F. of Maintenance per Specifications.	EA	3	\$30.32	\$90.96
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$27.28	\$1,418.56
n-7	440			Subtotal	\$4,941.52
62- 1	Maintain 8,423 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$50.54	\$606.48
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$24.85	\$1,292.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$18.63	\$968.76
4	Maintain 4,000 S.F. of Landscaped Buffer Areas, Basins, Bioswales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications	LS	12	\$24	\$288



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

ltem		UM	Qty	Unit Pricing	Item Total
5	Provide and Apply Fertilizer within 8,423 S.F. of Maintenance per Specifications.	EA	3	\$16.85	\$50.55
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$22.36	\$1,162.72
				Subtotal	\$4,368.71
BZ-	149				
1	Maintain 14,186 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$70.93	\$851.16
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$24.12	\$1,254.24
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$21.28	\$1,106.56
4	Provide and Apply Fertilizer within 14,186 S.F. of Maintenance per Specifications.	EA	3	\$28.37	\$85.11
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$25.53	\$1,327.56
				Subtotal	\$4,624.63
BZ-	150				
1	Maintain 6,924 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$34.71	\$416.52
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$11.8	\$613.6
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$10.41	\$541.32
4	Provide and Apply Fertilizer within 6,924 S.F. of Maintenance per Specifications.	EA	3	\$13.88	\$41.64
			F0	\$12.5	\$650
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	Ψ12.0	ψοσο



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten		UM	Qty	Unit Pricing	Item Total
1	Maintain 15,221 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$76.11	\$913.32
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$25.88	\$1,345.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$22.83	\$1,187.16
4	Provide and Apply Fertilizer within 15,221 S.F. of Maintenance per Specifications.	EA	3	\$30.44	\$91.32
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$27.4	\$1,424.8
				Subtotal	\$4,962.36
BZ-	152				
1	Maintain 4,575 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$22.88	\$274.56
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.78	\$404.56
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.86	\$356.72
4	Provide and Apply Fertilizer within 4,575 S.F. of Maintenance per Specifications.	EA	3	\$9.15	\$27.45
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$8.24	\$428.48
				Subtotal	\$1,491.77
BZ-	153				
1	Maintain 22,138 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$110.69	\$1,328.28
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$37.63	\$1,956.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$33.21	\$1,726.92



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 22,138 S.F. of Maintenance per Specifications.	EA	3	\$44.28	\$132.84
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$39.85	\$2,072.2
				Subtotal	\$7,217
BZ-	156				
1	Maintain 5,607 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$28.04	\$336.48
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$9.53	\$495.56
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$8.41	\$437.32
4	Provide and Apply Fertilizer within 5,607 S.F. of Maintenance per Specifications.	EA	3	\$11.21	\$33.63
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$10.09	\$524.68
				Subtotal	\$1,827.67
BZ-	157				
1	Maintain 6,505 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$32.53	\$390.36
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$11.06	\$575.12
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$9.76	\$507.52
4	Provide and Apply Fertilizer within 6,505 S.F. of Maintenance per Specifications.	EA	3	\$13.01	\$39.03
		LS	52	\$11.71	\$608.92
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LO	0-		



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1.	UM	Qty	Unit Pricing	Item Total
1	Maintain 28,148 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$140.74	\$1,688.88
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$47.85	\$2,488.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$42.22	\$2,195.44
4	Provide and Apply Fertilizer within 20,436 S.F. of Maintenance per Specifications.	EA	3	\$56.3	\$168.9
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$50.67	\$2,634.84
				Subtotal	\$9,176.26
BZ-	161				
1	Maintain 4,098 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$20.49	\$245.88
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$6.97	\$362.44
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.15	\$319.8
4	Provide and Apply Fertilizer within 4,098 S.F. of Maintenance per Specifications.	EA	3	\$8.2	\$24.6
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$7.38	\$383.76
				Subtotal	\$1,336.48
BZ-	164				
1	Maintain 8,535 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$42.68	\$512.16
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$14.51	\$754.52
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$12.8	\$665.6



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 8,535 S.F. of Maintenance per Specifications.	EA	3	\$17.07	\$51.21
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$15.36	\$798.72
				Subtotal	\$2,782.21
BZ-	165				
1	Maintain 2,545 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$12.73	\$152.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.33	\$225.16
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.82	\$198.64
4	Provide and Apply Fertilizer within 2,545 S.F. of Maintenance per Specifications.	EA	3	\$5.09	\$15.27
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$4.58	\$238.16
				Subtotal	\$829.99
GF-	01				
1	Maintain 4,280 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$21.4	\$256.8
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.28	\$378.56
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.42	\$333.84
4	Provide and Apply Fertilizer within 4,280 S.F. of Maintenance per Specifications.	EA	3	\$8.56	\$25.68
	Irrigation repairs per Specifications, Special Provisions	LS	52	\$7.7	\$400.4
5	Section 9-D.				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten		UM	Qty	Unit Pricing	Item Total
1	Maintain 2,800 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$14	\$168
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.76	\$247.52
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$4.2	\$218.4
4	Provide and Apply Fertilizer within 2,800 S.F. of Maintenance per Specifications.	EA	3	\$5.6	\$16.8
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$5.04	\$262.08
				Subtotal	\$912.8
GF-	03				
1	Maintain 2,103 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$10.52	\$126.24
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.58	\$186.16
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.15	\$163.8
4	Provide and Apply Fertilizer within 248 S.F. of Maintenance per Specifications.	EA	3	\$4.21	\$12.63
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$3.79	\$197.08
				Subtotal	\$685.91
GF-	08				
1	Maintain 6,900 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$34.5	\$414
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$11.73	\$609.96
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$10.35	\$538.2



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	n	UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 6,900 S.F. of Maintenance per Specifications.	EA	3	\$13.8	\$41.4
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$12.42	\$645.84
				Subtotal	\$2,249.4
GF-	11				
1	Maintain 7,000 S.F. of Rock/Cobble Planter Area, on weekly and bi-weekly basis, paid bi-weekly per Specifications.	LS	52	\$49	\$2,548
				Subtotal	\$2,548
D S	treet Medians and Planters				
1	Maintain 17,488 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$87.44	\$1,049.28
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$29.73	\$1,545.96
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$26.23	\$1,363.96
4	Provide and Apply Fertilizer within 16,012 S.F. of Maintenance per Specifications.	EA	3	\$32.02	\$96.06
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$31.48	\$1,636.96
				Subtotal	\$5,692.22
GF-	15				
1	Maintain 1,800 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$9	\$108
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.06	\$159.12
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$2.7	\$140.4
4	Provide and Apply Fertilizer within 1,800 S.F. of Maintenance per Specifications.	EA	3	\$3.6	\$10.8



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

ltem		UM	Qty	Unit Pricing	Item Total
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$3.24	\$168.48
				Subtotal	\$586.8
GF-	36				
	Maintain 68,504 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$2,632.16	\$31,585.92
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$125.03	\$6,501.56
	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$98.71	\$5,132.92
ļ	Provide and Apply Fertilizer within 68,504 S.F. of Maintenance per Specifications.	EA	3	\$138.19	\$414.57
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$118.45	\$6,159.4
				Subtotal	\$49,794.37
3F-	42				
	Maintain 4,180 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$4.6	\$41.4
2	Maintain 4,180 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$4.6	\$161
3	Provide 4,180 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$10.45	\$10.45
ļ	Maintain 13,200 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$92.4	\$1,108.8
i	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$33.02	\$1,717.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$26.07	\$1,355.64
	Provide and Apply Fertilizer within 17,380 S.F. of Maintenance area per Specifications.	EA	3	\$36.5	\$109.5
	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$31.28	\$1,626.56



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
			<u>'</u>	Subtotal	\$6,130.39
GF-	44				
1	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$28	\$1,456
2	Maintain 14,542 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$40	\$480
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$35	\$1,820
4	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$22	\$1,144
				Subtotal	\$4,900
GF-	49				
1	Maintain 6,500 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$45.5	\$546
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$12.35	\$642.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$9.75	\$507
4	Provide and Apply Fertilizer within 6,500 S.F. of Maintenance per Specifications.	EA	3	\$13.65	\$40.95
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$11.7	\$608.4
				Subtotal	\$2,344.55
GF-	50				
1	Maintain 9,448 S.F. of Syni Turf and Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$66.14	\$793.68
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$17.95	\$933.4
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.17	\$736.84



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 6,500 S.F. of Maintenance per Specifications.	EA	3	\$13.65	\$40.95
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$17.01	\$884.52
				Subtotal	\$3,389.39
GF-	54				
1	Maintain 5,455 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$38.19	\$458.28
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$10.36	\$538.72
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$8.18	\$425.36
4	Provide and Apply Fertilizer within 5,455 S.F. of Maintenance per Specifications.	EA	3	\$11.46	\$34.38
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$9.82	\$510.64
				Subtotal	\$1,967.38
GF-	58				
1	Maintain 8,880 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$62.16	\$745.92
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$16.87	\$877.24
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$13.32	\$692.64
4	Provide and Apply Fertilizer within 5,455 S.F. of Maintenance per Specifications.	EA	3	\$11.46	\$34.38
		LS	52	\$15.98	\$830.96
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	02		·



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
1	Maintain 11,866 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$83.06	\$996.72
2	Irrigation Maintenance of 11,866 S.F, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$22.55	\$1,172.6
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. of 198,317 S.F per Specifications.	LS	52	\$17.8	\$925.6
4	Provide and Apply Fertilizer within 11,866 S.F. of Maintenance per Specifications.	EA	3	\$24.92	\$74.76
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$21.36	\$1,110.72
				Subtotal	\$4,280.4
GF-6	31				
1	Maintain 42,104 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$294.73	\$3,536.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$80	\$4,160
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$63.16	\$3,284.32
4	Provide and Apply Fertilizer within 30,126 S.F. of Maintenance per Specifications.	EA	3	\$63.26	\$189.78
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$75.79	\$3,941.08
				Subtotal	\$15,111.94
GF-6	62				
1	Maintain 3,850 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$26.95	\$323.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.32	\$380.64
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$5.78	\$300.56



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 2,700 S.F. of Maintenance per Specifications.	EA	3	\$5.67	\$17.01
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$6.93	\$360.36
				Subtotal	\$1,381.97
GF-	Harley Knox Median				
1	Maintain 39,869 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$279.08	\$3,348.96
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$75.75	\$3,939
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$59.8	\$3,109.6
4	Provide and Apply Fertilizer within 39,869 S.F. of Maintenance per Specifications.	EA	3	\$83.72	\$251.16
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$71.76	\$3,731.52
				Subtotal	\$14,380.24
GF-	Ethanac Parkway				
1	Maintain 20,499 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$503.99	\$6,047.88
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$79.2	\$4,118.4
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. 51,499 S.F. per Specifications.	LS	52	\$72	\$3,744
4	Provide and Apply Fertilizer within 20,499 S.F. of Maintenance per Specifications.	EA	3	\$43.05	\$129.15
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$129.6	\$6,739.2
				Subtotal	\$20,778.63
GF-	Placentia Off Ramp				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

	ı	UM	Qty	Unit Pricing	Item Total
1	Maintain 56,167 S.F. of Planter, on a monthly and as needed basis per Specifications.	LS	12	\$393.17	\$4,718.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$84.25	\$4,381
3	Required traffic control per specification.	LS	1	\$1,500	\$1,500
4	Pick up trash and debris and weed abate DG trails, hardscape, turf, shrub, planter areas, per Specifications.	LS	52	\$84.25	\$4,381
5	Provide and Apply Fertilizer within 6,830 S.F. of Maintenance per Specifications.	EA	3	\$14.34	\$43.02
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.		52	\$101.1	\$5,257.2
				Subtotal	\$20,280.26
GF-	Redlands Medians (Morgan to Sinclair)				
1	Maintain 8,363 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$71.92	\$863.04
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$12.54	\$652.08
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$12.54	\$652.08
4	Provide and Apply Fertilizer within 8,363 S.F. of Maintenance per Specifications.	EA	3	\$17.56	\$52.68
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$15.05	\$782.6
				Subtotal	\$3,002.48
GF-	Redlands Medians (Morgan to Ramona Expressway)				
1	Maintain 11,686 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$100.5	\$1,206
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$17.53	\$911.56



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten	1	UM	Qty	Unit Pricing	Item Total
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$17.53	\$911.56
4	Provide and Apply Fertilizer within 11,686 S.F. of Maintenance per Specifications.	EA	3	\$24.54	\$73.62
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$21.03	\$1,093.56
				Subtotal	\$4,196.3
Add	litive Alternate Bid Schedule: GF-Goetz Road Medians CIP				
1	Maintain 40,260 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$322.08	\$3,864.96
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$40.26	\$2,093.52
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$60.39	\$3,140.28
4	Provide and Apply Fertilizer within 40,260 S.F. of Maintenance per Specifications.	EA	3	\$84.55	\$253.65
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$72.47	\$3,768.44
				Subtotal	\$13,120.85
Add	litive Alternate Bid Schedule: GF-Nuevo Road Medians CIP				
1	Maintain 32,650 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$359.15	\$4,309.8
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$32.65	\$1,697.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$48.98	\$2,546.96
4	Provide and Apply Fertilizer within 22,000 S.F. of Maintenance per Specifications.	EA	3	\$46.2	\$138.6
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$58.77	\$3,056.04
				Subtotal	\$11,749.2



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	n	UM	Qty	Unit Pricing	Item Total
Add	litive Alternate Bid Schedule: GF-Placentia Ave Parkways: Co	entral Area	(Anticipated FY2	24-25 and FY25-26)	
1	Maintain 108,951 S.F. of Median and Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$871.61	\$10,459.32
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$163.43	\$8,498.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$163.43	\$8,498.36
4	Provide and Apply Fertilizer within 108,951 S.F. of Maintenance per Specifications.	EA	3	\$272.38	\$817.14
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$207.01	\$10,764.52
				Subtotal	\$39,037.7
GF-	Perris Blvd./2nd Street				
1	Maintain 4,535 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$31.75	\$381
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$6.8	\$353.6
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.8	\$353.6
4	Provide and Apply Fertilizer within 4,535 S.F. of Maintenance per Specifications.	EA	3	\$11.34	\$34.02
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$8.62	\$448.24
				Subtotal	\$1,570.46
11 \$	South D Street Building				
1	Maintain 1,253 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$2.26	\$20.34
2	Maintain 1,253 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$2.38	\$83.3
3	Provide 1,253 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$1	\$1



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Maintain 2,256 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$13.54	\$162.48
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$5.26	\$273.52
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$5.26	\$273.52
7	Provide and Apply Fertilizer within 3,509 S.F. of Maintenance area per Specifications.	EA	3	\$8.77	\$26.31
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$6.67	\$346.84
				Subtotal	\$1,187.31
San	Jacinto Ave. Fire Station				
1	Maintain 17,165 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$102.99	\$1,235.88
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$25.75	\$1,339
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$25.75	\$1,339
4	Provide and Apply Fertilizer within 17,165 S.F. of Maintenance per Specifications.	EA	3	\$42.91	\$128.73
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$32.61	\$1,695.72
				Subtotal	\$5,738.33
Peri	ris Senior Center				
1	Maintain 6,550 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$11.79	\$106.11
2	Maintain 6,550 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$12.45	\$435.75
3	Provide 6,550 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$150	\$150
4	Maintain 350 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$2.1	\$25.2



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$10.35	\$538.2
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$10.35	\$538.2
7	Provide and Apply Fertilizer within 6,900 S.F. of Maintenance area per Specifications.	EA	3	\$17.25	\$51.75
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$13.11	\$681.72
				Subtotal	\$2,526.93
Peri	is Train Depot				
1	Maintain 4,230 S.F. of Turf Area from Nov. 1 to Feb. 28 per Specifications.	LS	9	\$4.23	\$38.07
2	Maintain 4,230 S.F. of Turf Area from Mar.1 to Oct. 31 per Specifications.	LS	35	\$8.04	\$281.4
3	Provide 4,230 S.F of Over-seeding on an annual basis prior to Nov. 15 per Specifications	LS	1	\$50	\$50
4	Maintain 5,677 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$39.74	\$476.88
5	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$14.86	\$772.72
6	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.86	\$772.72
7	Provide and Apply Fertilizer within 9,907 S.F. of Maintenance area per Specifications.	EA	3	\$24.77	\$74.31
8	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$18.82	\$978.64
				Subtotal	\$3,444.74
Plac	entia Ave. Fire Station				
1	Maintain 12,034 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$84.24	\$1,010.88



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

) Laı	ndscape Benefit Zone Maintenance Services (Spec. #LMD 1-	2024-25-01)			
ltem		UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$18.05	\$938.6
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$18.05	\$938.6
4	Provide and Apply Fertilizer within 12,034 S.F. of Maintenance per Specifications.	EA	3	\$30.09	\$90.27
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$22.86	\$1,188.72
				Subtotal	\$4,167.07
FC-	4				
1	Maintain 369,250 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$4,431	\$53,172
				Subtotal	\$53,172
FC-2	22				
1	Maintain 34,000 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$1,088	\$13,056
				Subtotal	\$13,056
FC-2	26				
1	Maintain 2,135 L.F. of Landscaped Buffer Areas, Basins, Bioswales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$768.6	\$9,223.2
				Subtotal	\$9,223.2
FC-7	77				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	1	UM	Qty	Unit Pricing	Item Total
1	Maintain 447,646 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$4,924.11	\$59,089.32
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$402.88	\$20,949.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$671.47	\$34,916.44
4	Provide and Apply Fertilizer within 447,646 S.F. of Maintenance per Specifications.	EA	3	\$1,119.12	\$3,357.36
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$805.76	\$41,899.52
				Subtotal	\$160,212.4
FC-	97				
1	Maintain 73,074 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$584.59	\$7,015.08
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$65.77	\$3,420.04
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$109.61	\$5,699.72
4	Provide and Apply Fertilizer within 73,074 S.F. of Maintenance per Specifications.	EA	3	\$182.69	\$548.07
				Subtotal	\$16,682.91
FC-	98				
1	Maintain 79,842 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$678.66	\$8,143.92
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$71.86	\$3,736.72
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$119.76	\$6,227.52
4	Provide and Apply Fertilizer within 79,842 S.F. of Maintenance per Specifications.	EA	3	\$199.61	\$598.83



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	1	UM	Qty	Unit Pricing	Item Total
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$143.72	\$7,473.44
				Subtotal	\$26,180.43
BZ-	84				
1	Maintain 5,825 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$25.63	\$307.56
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$11.65	\$605.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$11.65	\$605.8
4	Provide and Apply Fertilizer within 5,825 S.F. of Maintenance per Specifications.	EA	3	\$11.65	\$34.95
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$10.49	\$545.48
				Subtotal	\$2,099.59
Add	litive Alternate Bid Schedule: BZ-166: South Area (Anticipate	d FY25-26)			
1	Maintain 43,727 S.F. of Planter Area, 3,399 S.F. of Median Hardscape, and 10,730 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$437.27	\$5,247.24
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$87.45	\$4,547.4
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$65.59	\$3,410.68
4	Provide and Apply Fertilizer within 54,457 S.F. of Maintenance per Specifications.	EA	3	\$109.32	\$327.96
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$78.71	\$4,092.92
				Subtotal	\$17,626.2
Add	litive Alternate Bid Schedule: BZ-163: Central Area (Anticipat	ted FY25-26)			
1	Maintain 5,467 S.F. of Planter Area, 2,103 S.F. of Median Hardscape Area, and 2,020 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$77.68	\$932.16



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

ltem		UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$8.63	\$448.76
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.39	\$748.28
4	Provide and Apply Fertilizer within 7,487 S.F. of Maintenance per Specifications.	EA	3	\$19.62	\$58.86
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$17.26	\$897.52
				Subtotal	\$3,085.58
Add	itive Alternate Bid Schedule: BZ-169: Central Area (Anticipa	ted FY25-26)			
1	Maintain 2,071 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$16.78	\$201.36
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$1.86	\$96.72
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$3.11	\$161.72
4	Provide and Apply Fertilizer within 2,071 S.F. of Maintenance per Specifications.	EA	3	\$5.18	\$15.54
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$3.73	\$193.96
				Subtotal	\$669.3
Add	itive Alternate Bid Schedule: BZ-154 (TR36648): North Area	(Anticipated FY2	5-26)		
1	Maintain 35,733 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$289.76	\$3,477.12
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$108.96	\$5,665.92
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$181.6	\$9,443.2



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

		2024-23-01)	0.		
Item		UM	Qty	Unit Pricing	Item Total
4	Maintain 85,921 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$460.57	\$5,526.84
5	Provide and Apply Fertilizer within 5,757 S.F. of Maintenance per Specifications.	EA	3	\$14.39	\$43.17
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$217.92	\$11,331.84
				Subtotal	\$35,488.09
Add	itive Alternate Bid Schedule: BZ-172: Central Area (Anticipa	ted FY25-26)			
1	Maintain 4,327 S.F. of Planter Area; 1,969 S.F. of Median Planter Area and 2,060 S.F. of Median Hardscape on Rider St., 2,881 S.F. of Median Planter Area and 2,039 S.F. of Median Hardscape on Redlands Ave., on a monthly and as needed basis per Specifications.	LS	12	\$84.2	\$1,010.4
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$9.36	\$486.72
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$15.59	\$810.68
4	Provide and Apply Fertilizer within 9,177 S.F. of Maintenance per Specifications.	EA	3	\$22.94	\$68.82
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$18.71	\$972.92
				Subtotal	\$3,349.54
Add	itive Alternate Bid Schedule: BZ-175 (TR33338): Central Are	a (Anticipated F	(25-26)		
1	Maintain 30,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$243	\$2,916
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$47.25	\$2,457
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$78.75	\$4,095



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Iten		UM	Qty	Unit Pricing	Item Total
4	Maintain 22,497 S.F. of Landscaped Buffer Areas, Basins, Bio-swales, Channels (Where Applicable), includes plant material maintenance and/or undeveloped weed control at slopes and banks, swales, channels, basins, on a monthly basis, and weekly trash, weed, and debris removal, paid monthly, per Specifications.	LS	12	\$121.48	\$1,457.76
5	Provide and Apply Fertilizer within 30,000 S.F. of Maintenance per Specifications.	EA	3	\$14.39	\$43.17
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$94.49	\$4,913.48
				Subtotal	\$15,882.41
Add	itive Alternate Bid Schedule: BZ-167: North Area (Anticipate	d FY25-26)			
1	Maintain 4,526 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$36.66	\$439.92
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.07	\$211.64
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.79	\$353.08
4	Provide and Apply Fertilizer within 4,526 S.F. of Maintenance per Specifications.	EA	3	\$11.32	\$33.96
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$8.15	\$423.8
				Subtotal	\$1,462.4
Add	itive Alternate Bid Schedule: BZ-168: North Area (Anticipate	d FY25-26)			
1	Maintain 5,751 S.F. of Planter and Median Area, on a monthly and as needed basis per Specifications.	LS	12	\$46.58	\$558.96
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$5.18	\$269.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$8.63	\$448.76
4	Provide and Apply Fertilizer within 5,751 S.F. of Maintenance per Specifications.	EA	3	\$14.38	\$43.14



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

ter	n	UM	Qty	Unit Pricing	Item Total
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$10.35	\$538.2
				Subtotal	\$1,858.42
١d٥	ditive Alternate Bid Schedule: BZ-177: Central Area (Anticipat	ed FY25-26)			
l	Maintain 7,930 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$63.44	\$761.28
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.14	\$371.28
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$11.9	\$618.8
1	Provide and Apply Fertilizer within 7,930 S.F. of Maintenance per Specifications.	EA	3	\$19.83	\$59.49
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$14.27	\$742.04
				Subtotal	\$2,552.89
٩d٥	ditive Alternate Bid Schedule: BZ-AAA				
	Maintain 15,834 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$128.26	\$1,539.12
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$14.25	\$741
	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$23.75	\$1,235
3	stirub, pianter areas, etc. per specifications.				
	Provide and Apply Fertilizer within 15,834 S.F. of Maintenance per Specifications.	EA	3	\$39.59	\$118.77
1	Provide and Apply Fertilizer within 15,834 S.F. of Maintenance	EA LS	3 52	\$39.59 \$28.5	\$118.77 \$1,482
ļ	Provide and Apply Fertilizer within 15,834 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions				·
3 4 5	Provide and Apply Fertilizer within 15,834 S.F. of Maintenance per Specifications. Irrigation repairs per Specifications, Special Provisions	LS	52	\$28.5	\$1,482



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$98.84	\$5,139.68
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$74.13	\$3,854.76
4	Provide and Apply Fertilizer within 49,421 S.F. of Maintenance per Specifications.	EA	3	\$123.55	\$370.65
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$88.96	\$4,625.92
				Subtotal	\$22,886.85
Add	itive Alternate Bid Schedule: BZ-162D (TR37262): South Area	a (Anticipated F)	(25-26)		
1	Maintain 54,452 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$616.78	\$7,401.36
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$108.9	\$5,662.8
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$81.68	\$4,247.36
4	Weed abatement of walking trail 17,135 S.F.	LS	52	\$38.46	\$1,999.92
5	Provide and Apply Fertilizer within 54,452 S.F. of Maintenance per Specifications.	EA	3	\$136.13	\$408.39
6	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$98.01	\$5,096.52
				Subtotal	\$24,816.35
Add	itive Alternate Bid Schedule: GF-Ramona Expressway CIP				
1	Maintain 24,071 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$194.98	\$2,339.76
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$21.66	\$1,126.32
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$36.11	\$1,877.72



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 24,071 S.F. of Maintenance per Specifications.	EA	3	\$60.18	\$180.54
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$43.33	\$2,253.16
				Subtotal	\$7,777.5
Add	itive Alternate Bid Schedule: CUP 20-05101: North Area (Anti	icipated FY2	25-26)		
1	Maintain 5,207 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$42.18	\$506.16
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.69	\$243.88
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$7.81	\$406.12
4	Provide and Apply Fertilizer within 5,207 S.F. of Maintenance per Specifications.	EA	3	\$13.02	\$39.06
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$9.37	\$487.24
				Subtotal	\$1,682.46
Add	itive Alternate Bid Schedule: DPR 15-00014: Central Area (Ar	nticipated F	(25-26)		
1	Maintain 1,026 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$8.31	\$99.72
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$0.92	\$47.84
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$1.54	\$80.08
1	Provide and Apply Fertilizer within 1,026 S.F. of Maintenance per Specifications.	EA	3	\$2.57	\$7.71
	Irrigation repairs per Specifications, Special Provisions	LS	52	\$1.85	\$96.2
5	Section 9-D.				



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten		UM	Qty	Unit Pricing	Item Total
1	Maintain 4,385 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$35.52	\$426.24
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.95	\$205.4
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6.58	\$342.16
4	Provide and Apply Fertilizer within 4,385 S.F. of Maintenance per Specifications.	EA	3	\$10.96	\$32.88
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$7.89	\$410.28
				Subtotal	\$1,416.96
Add	itive Alternate Bid Schedule: DPR 18-00007: North Area (Ant	ticipated FY25-2	6)		
1	Maintain 7,979 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$64.63	\$775.56
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$7.18	\$373.36
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$11.97	\$622.44
4	Provide and Apply Fertilizer within 7,979 S.F. of Maintenance per Specifications.	EA	3	\$19.95	\$59.85
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$14.36	\$746.72
				Subtotal	\$2,577.93
Add	itive Alternate Bid Schedule: DPR 19-00004: North Area (Ant	ticipated FY25-2	6)		
1	Maintain 19,200 S.F. of Planter Area of Parkway and 522 S.F. of Median Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$155.52	\$1,866.24
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$17.28	\$898.56
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$28.8	\$1,497.6



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

ltem		UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 19,722 S.F. of Maintenance per Specifications.	EA	3	\$48	\$144
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$34.56	\$1,797.12
				Subtotal	\$6,203.52
Add	itive Alternate Bid Schedule: DPR 19-00006: North Area (Ant	icipated FY	25-26)		
1	Maintain 9,829 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$79.61	\$955.32
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$8.85	\$460.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.74	\$766.48
4	Provide and Apply Fertilizer within 9,829 S.F. of Maintenance per Specifications.	EA	3	\$24.57	\$73.71
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$17.69	\$919.88
				Subtotal	\$3,175.59
Add	itive Alternate Bid Schedule: DPR 20-00014: North Area (Ant	icipated FY	25-26)		
1	Maintain 4,000 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$32.4	\$388.8
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.6	\$187.2
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$6	\$312
1	Provide and Apply Fertilizer within 4,000 S.F. of Maintenance per Specifications.	EA	3	\$10	\$30
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$7.2	\$374.4



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten		UM	Qty	Unit Pricing	Item Total
1	Maintain 6,423 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$52.03	\$624.36
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$5.78	\$300.56
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$9.63	\$500.76
1	Provide and Apply Fertilizer within 6,423 S.F. of Maintenance per Specifications.	EA	3	\$16.06	\$48.18
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$11.56	\$601.12
				Subtotal	\$2,074.98
٩dc	itive Alternate Bid Schedule: DPR 21-00017: North Area (Ant	ticipated FY	(25-26)		
1	Maintain 3,623 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$29.35	\$352.2
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$3.26	\$169.52
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$5.43	\$282.36
ı	Provide and Apply Fertilizer within 3,623 S.F. of Maintenance per Specifications.	EA	3	\$9.06	\$27.18
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$6.52	\$339.04
				Subtotal	\$1,170.3
۸dc	litive Alternate Bid Schedule: DPR 22-00010: North Area (Ant	ticipated FY	(25-26)		
1	Maintain 9,973 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$80.78	\$969.36
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$8.98	\$466.96
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$14.96	\$777.92



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

lten	1	UM	Qty	Unit Pricing	Item Total
4	Provide and Apply Fertilizer within 9,973 S.F. of Maintenance per Specifications.	EA	3	\$24.93	\$74.79
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$17.95	\$933.4
				Subtotal	\$3,222.43
Add	litive Alternate Bid Schedule: GF-Skill Center: North Area (A	nticipated FY25-	26)		
1	Maintain 4,966 S.F. of Planter Area, on a monthly and as needed basis per Specifications.	LS	12	\$40.22	\$482.64
2	Irrigation Maintenance, Inspection, Testing, Monitoring, Reporting, EMWD Water Budgeting, Water Reporting, Controller Budgeting, and Work Performance Reporting/Scheduling per Specifications.	LS	52	\$4.47	\$232.44
3	Pick up trash and debris and weed abate hardscape, turf, shrub, planter areas, etc. per Specifications.	LS	52	\$7.45	\$387.4
4	Provide and Apply Fertilizer within 4,966 S.F. of Maintenance per Specifications.	EA	3	\$12.42	\$37.26
5	Irrigation repairs per Specifications, Special Provisions Section 9-D.	LS	52	\$8.94	\$464.88
				Subtotal	\$1,604.62
Add G	litive Alternate Bid Schedule: Irrigation Controller, Irrigation	Cabinet, Master	Valve, and Flow	Sensor LMD Upgrades	s: Refer to Appendix
1	Benefit Zone-1A1: Meter #73029649: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
2	Benefit Zone-1A2: Meter #863785: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
3	Benefit Zone-1B1: Meter #57097712: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
4	Benefit Zone-1B2: Meter #93709835: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
5	Benefit Zone-2A: Meter #8220531: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
6	Benefit Zone-3: Meter #11087230: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
7	Benefit Zone-4A: Meter #67010235: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
8	Benefit Zone-4B: Meter #65432242: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
9	Benefit Zone-5C: Meter #71567454: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
10	Benefit Zone-5B: Meter #73678131: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
11	Benefit Zone-5: Meter #70033042: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
12	Benefit Zone-8: Meter #64622265: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
13	Benefit Zone-9: Meter #67407107: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
14	Benefit Zone-13: Meter #2117500: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
15	Benefit Zone-14A: Meter #98391003: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
16	Benefit Zone-14B: Meter #64595376: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
17	Benefit Zone-15: Meter #8218339: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
18	Benefit Zone-15B: Meter #71661941: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
19	Benefit Zone-16: Meter #73236449: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
20	Benefit Zone-17: Meter #9131621: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,727	\$15,727
21	Benefit Zone-18: Meter #94508765: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,727	\$15,727
22	Benefit Zone-19: Meter #68990412: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
23	Benefit Zone-20: Meter #9193639: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
24	Benefit Zone-21: Meter #72281142: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
25	Benefit Zone-22: Meter #9193648: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
26	Benefit Zone-24A: Meter #232700624: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,200	\$15,200
27	Benefit Zone-24B: Meter #64485489: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,200	\$15,200



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
28	Benefit Zone-28: Meter #96367738: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
29	Benefit Zone-35A: Meter #64485500: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,753	\$15,753
30	Benefit Zone-35B: Meter #64054459: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
31	Benefit Zone-36A: Meter #66653901: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
32	Benefit Zone-36B: Meter #62351402: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
33	Benefit Zone-36C: Meter #73368165: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,768	\$16,768
34	Benefit Zone-37: Meter #62853498: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
35	Benefit Zone-39: Meter #61625803: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
36	Benefit Zone-40C: Meter #60136142: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
37	Benefit Zone-40A: Meter #60136141: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
38	Benefit Zone-40B: Meter #62035382: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
39	Benefit Zone-42A: Meter #61791861: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$2,000	\$2,000
40	Benefit Zone-42B: Meter #64078314: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
41	Benefit Zone-42C: Meter #64078283: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$14,702	\$14,702
42	Benefit Zone-50A: Meter #64054461: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
43	Benefit Zone-50B: Meter #61791929: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
44	Benefit Zone-52: Meter #66232674: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,218	\$15,218
45	Benefit Zone-53A: Meter #66232669: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
46	Benefit Zone-53B: Meter #65514399: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
47	Benefit Zone-53C: Meter #66232670: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
48	Benefit Zone-53D: Meter #66232660: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
49	Benefit Zone-53E: Meter #69524006: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
50	Benefit Zone-53F: Meter #65432254: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
51	Benefit Zone-53G: Meter #65514404: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
52	Benefit Zone-54: Meter #66761700: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
53	Benefit Zone-55: Meter #212161685: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
54	Benefit Zone-56A: Meter #57435860: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
55	Benefit Zone-56B: Meter #57577690: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
56	Benefit Zone-56C: Meter #57577644: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
57	Benefit Zone-57A: Meter #63885643: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
58	Benefit Zone-57B: Meter #65432237: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,768	\$16,768
59	GF-58: Meter #71468641: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$14,702	\$14,702



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
60	Benefit Zone-59A: Meter #66133024: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$14,702	\$14,702
61	Benefit Zone-59B: Meter #66133025: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$12,702	\$12,702
62	Benefit Zone-60B: Meter #72048105: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,768	\$16,768
63	Benefit Zone-61: Meter #74705271: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$12,702	\$12,702
64	Benefit Zone-63: Meter #69647491: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,727	\$15,727
65	Benefit Zone-63A: Meter #71134893: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
66	Benefit Zone-63B: Meter #68509913: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,200	\$15,200
67	Benefit Zone-63C: Meter #68509912: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
68	Benefit Zone-63D: Meter #19849091: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,727	\$15,727
69	Benefit Zone-63F: Meter #68868205: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
70	Benefit Zone-66: Meter #68990322: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
71	Benefit Zone-71: Meter #66966966: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$2,000	\$2,000
72	Benefit Zone-72: Meter #67383868: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$12,177	\$12,177
73	Benefit Zone-73: Meter #73402420: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$14,702	\$14,702
74	Benefit Zone-74: Meter #67298811: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$14,702	\$14,702
75	Benefit Zone-76: Meter #67351698: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
76	Benefit Zone-77A: Meter #222058042: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
77	Benefit Zone-77B: Meter #19863516: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
78	Benefit Zone-80A: Meter #69524007: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
79	Benefit Zone-80B: Meter #69524003: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
80	Benefit Zone-81A: Meter #68270155: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
81	Benefit Zone-81B: Meter #68529719: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
82	Benefit Zone-85: Meter #8931665: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
83	Benefit Zone-86: Meter #64749124: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
84	Benefit Zone-93: Meter #13073649: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
85	Benefit Zone-94: Meter #8382295: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
86	Benefit Zone-94A: Meter #8402026: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
87	Benefit Zone-94B: Meter #8871149: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
88	Benefit Zone-95: Meter #73571474: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
89	Benefit Zone-96A: Meter #9020077: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$2,000	\$2,000
90	Benefit Zone-97A: Meter #8445988: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
91	Benefit Zone-97B: Meter #8214104: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
92	Benefit Zone-97C: Meter #8214105: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$17,303	\$17,303
93	Benefit Zone-98: Meter #73610183: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
94	Benefit Zone-99: Meter #9656727: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$15,200	\$15,200
95	Benefit Zone-100: Meter #78641845: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
96	Benefit Zone-101/102: Meter #73783364: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
97	Benefit Zone-104A: Meter #212447751: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
98	Benefit Zone-104B: Meter #212447750: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
99	Benefit Zone-104C: Meter #20006399: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Item		UM	Qty	Unit Pricing	Item Total
100	Benefit Zone-104D: Meter #8931686: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
101	Benefit Zone-104E: Meter #9062050: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
102	Benefit Zone-106: Meter #73641847: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$0	\$0
103	Benefit Zone-107/108A: Meter #9050894: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
104	Benefit Zone-107/108B: Meter #9023129: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
105	Benefit Zone-107/108C: Meter #9023130: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$3,550	\$3,550
106	Benefit Zone-115: Meter #10006232: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$16,252	\$16,252
107	Benefit Zone-116B: Meter #9050873: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	LS	1	\$11,650	\$11,650



1. Apparent low bidder details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 109 Benefit Zone-135: Meter #19865780: One (1) Lump Sum Price LS 1 \$2,000 \$2,000 Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 110 Benefit Zone-146: Meter #19865783: One (1) Lump Sum Price LS 1 \$3,550 \$3,550 Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	Item		UM	Qty	Unit Pricing	Item Total
Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Installation and Evaluation and E	108	Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed.	LS	1	\$3,550	\$3,550
Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 111 Benefit Zone-149: Meter #19865779: One (1) Lump Sum Price LS 1 \$3,550 \$3,550 Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 112 Benefit Zone-151: Meter #212181412: One (1) Lump Sum LS 1 \$3,550 \$3,550 Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 113 Benefit Zone-157: Meter #212161594: One (1) Lump Sum LS 1 \$3,550 \$3,550 Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 114 Benefit Zone-160: Meter #222056940: One (1) Lump Sum LS 1 \$3,550 \$3,550 Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 114 Benefit Zone-160: Meter #222056940: One (1) Lump Sum LS 1 \$3,550 \$3,550 \$3,550 Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items.	109	Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed.	LS	1	\$2,000	\$2,000
Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 112 Benefit Zone-151: Meter #212181412: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 113 Benefit Zone-157: Meter #212161594: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 114 Benefit Zone-160: Meter #222056940: One (1) Lump Sum Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 115 Subtotal \$1,232,980	110	Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed.	LS	1	\$3,550	\$3,550
Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 113 Benefit Zone-157: Meter #212161594: One (1) Lump Sum LS 1 \$3,550 \$3,550 Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 114 Benefit Zone-160: Meter #222056940: One (1) Lump Sum LS 1 \$3,550 \$3,550 Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. Subtotal \$1,232,980	111	Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed.	LS	1	\$3,550	\$3,550
Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. 114 Benefit Zone-160: Meter #222056940: One (1) Lump Sum LS 1 \$3,550 \$3,550 Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. Subtotal \$1,232,980	112	Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed.	LS	1	\$3,550	\$3,550
Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed. Refer to Appendix G for Specifications and Bid Items. Subtotal \$1,232,980	113	Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed.	LS	1	\$3,550	\$3,550
	114	Price Unit to include all Labor, Materials, Equipment, Taxes for Complete Installation of Required Upgrades within this Benefit Zone, plus removal of existing irrigation material as needed.	LS	1	\$3,550	\$3,550
Project Total \$3,338,422.36					Subtotal	\$1,232,980
					Project Total	\$3,338,422.36



File attachment details for: Leidenfrost, Tyler / Bill and Daves Landscape Maintenance Inc.

File name	Description	Туре	Size	Notes
Controller pricing letter	Additional	pdf	62.3 Kb	
QAL 2023	Additional	pdf	297.2 Kb	
City of Perris Bid Bond	Additional	pdf	6.5 MB	
DIR Bill and Daves	Additional	png	121.3 Kb	
Perris 2024 Schedule 1	Additional	xlsx	241.4 Kb	
Addendum-3-Required-Bid-Documents- DESKTOP-Q9NB355	Additional	pdf	59.3 MB	
QAC Card	Additional	pdf	281 Kb	